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B C

[7}4] oABCD 9l A AB // DC, AD // BC
[A2] AB=CD, AD = BC

Bk

AB//DCe]B=& /ABD = /CDB (%17%}) --
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/BAD = /CBE
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AABD = ABCE o]t}.
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LACB = /ABC = %(180" —74°) = 53°
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CE,AG 9 CH © 28& 217 P, Q @ ¥ o, 0ABCD € A 9|3t
P2 DAECG , bAFCH , nAPCQ © %
gol Hl 21E AR YT 2L

I
S
X
1o
o5
Ogl:,'
>
rE

@ 9,6,06 ® 0,606

ODAECGE= AE//GCol1
ODAFCHE AH //FC©o]i AH = FCo|t}. (
ODAPCQ+= AP //QCol1 ot}




I ABCD 7} %At

=
=]

ohg % o

21.

_C
M

[aa)]

AC1BD

@

® AD//BC

=DO

@ BO




22. & 193 Zo] AD//BC &1 Atk EeA OA: OC =1:3 o|tt,
2 0]

oABCD = 64cm o, AABO 2] {o]& L5fo]at,
A
0)
B C
= cm?

>
> ®E 12cm?
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AAOD 9 HolEa=tal 61, 1:3=a: ADOC, ADOC = 3a
ADOC = AABO =3a,1:3=3a: ABOC, ABOC = 9a
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. AABO = 3a = 12cm? .
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21 + 3EF = 2EF + 34
EF =13 (cm)




